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SUBROUTI NE LAl NCDX, NN, A, NDL, AA, ND2, NDI V)

@]

DI MENSI ON A(NDL) , AA(ND2) , XD(4) , D(4) , O(80, 4) , A 4)
DATA X0/ -1.,0.,1.,2./,D-6.,2.,-2.,6./

DI V=REAL(NDI V)
| 4=NDI \* 3+1
DO 130 1=1,14
X=REAL(1-NDI V-1)/ Dl V
DO 120 J=1, 4
P=1.
DO 110 K=1, 4
| F(K EQJ) GO TO 110
P=P*(X- XD(K) )
110 CONTI NUE
ql,J)=P DJ)
120 CONTI NUE
130 CONTI NUE
N0
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I S=1 LAIN 26

| E=NDI V+2 LAN 27
DO 170 M2, N\ 2 LAN 28
DO 140 J=1, 4 LAN 29
ADX(J) =A( M- 2) LAN 30
140 CONTI NUE LAN 31
DO 160 1=IS | E LAN 32
AAL=0. LAN 33
DO 150 J=1, 4 LAN 34
AAL=AAL+AD( J) * (1, J) LAN 35
150 CONTI NUE LAN 36
NENHL LAN 37
AA(N) =AAL LAN 38
160 CONTI NUE LAIN 39
IF(MEQ2) |S=NDV+1 LAIN 40
IF(MEQN\-3) | E=l4 LAN 41
170 CONTI NUE LAN 42
NNEN LAN 43
DX=DX/ Dl V LAIN 44
RETURN LAN 45
END LAN 46
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DI MENSI ON AL(9) , A2(81)
DATA NDI V/ 10/

READ(5, 501) NN DT, (AL(M, M1, NN)
CALL LA N(DT, N\ AL, 9, A2, 81, NDI V)
STCP
C
501 FORMAT(T21, | 5/ T21, F5. 0/ 9F5. 0)
END
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DI MENSI ON A(8) , AA(22) , T( 22)
DATA NN 8/, A'5.,32.,38.,-33.,-28.,-10.,6.,0./,NDI V/ 3/

DT=1. / REAL(NN)
DT1=DT
CALL LAIN(DT, NN A 8, AA 22, NDI V)
DO 110 K=1, NN
TR=REAL (K- 1) * DT+DT1
T(K=1./TR

110 CONTI NUE 10
STCP 11
END 12
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